
u(t )=U⋅cos(ω t+ϕU )=Re [U⋅e jϕU⋅e jωt ]=Re [Û⋅e jω t ]
Kazalci

i(t)=I⋅cos (ω t+ϕI)=Re [ I⋅e
jϕI⋅e jω t ]=Re [ Î⋅e jωt ]

Û=(R+ jωL+
1
jωC)⋅Î=Z⋅Î

Î=( jωC+
1
jωL

+G)⋅Û=Y⋅Û

Û=U⋅e jϕU

Î=I⋅e jϕ I

u(t )=R⋅i(t)=Re [R⋅Î⋅e jω t] Û=R⋅ÎR

L

C

u(t )=L⋅
d i(t)
dt

=Re [ L⋅Î⋅jω⋅e jωt ] Û= jωL⋅Î

u(t )= 1
C
⋅∫ i(t )dt=Re [ 1C⋅Î⋅ 1

jω
⋅e jωt ] Û=

1
jωC

⋅Î
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Z=R+ jωL+ 1
jωC

=R+ jX

Û

G

L
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Î

Î

Û Y= jωC+
1
jωL

+G=G+ jB

G=1 /R
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